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Console

make -s
./main
what does
What does
./main
What Does
What does
./main
wHAT DOES
What does

Shell




f#finclude <stdio.h>
ine DISTANCE ('a'-'A")

int main(void)

1;

e ((c = getchar()) != '\n') {
FGlc>=tal &&lc<— 7)) i
if (first) i

c -= DISTANCE;

fitst = 05
%
putchaz(c);

e bRl fer S= AN SRe <= A ) ) T
if (first)
first = 0;

c += DISTANCE;

putchaz(c);

5
elcp 1f fc =— ' =)
putchar(c);
%
printf("\n");




Lab 4 - 1A 1

##include <stdio.h>
jtdefine DISTANCE ('a'-'A')

int main(void)

v i

IRE €

inE first = 1;




Lab 4 - 2}A|1

8, |while ((c = getchar()) != '\n') 1
9., it (5 == A 8 @ = =2y el
e Part? 10 ,, if (first) §
-4 ¢ -= DISTANCE;
o JNHEAZE SO0|E WIHA| gh= 12 first = 0;

[

putchar(c);

$
eliseda £ ((cE>=N"ANNEENC <=7 )) 3
if (first)
firsE=10:
else
¢ += DISTANCE;
putchar(c);
t
else if (¢ == ' ')
putchar(c);




Lab 4 - 2}A|1

8, while ((c = getchar()) != '‘\n') 1
2o 1t (e 2= 8l &8 e a= 2 e
e Part?2 10 |, if (first) {
11 ¢ -= DISTANCE;
o 37iA|9 gEezE f1& 1 first = 0;
m AZZ §
putchar(c);
m  CEAF ?
m T[O|#7] else 1if ((c >= 'A' & c <= 'Z')) 1

if (first)

first = 0;
else
¢ += DISTANCE;
putchar(c);
%
else if (c == ' ')
putchar(c);




Lab 4 - 2}A|1

QIR| mCt
o 2ZO0|H tFAt= Hatstll firstE 022
HE

o putcharz ¢

while ((c = getchar()) != ‘\n') 1
1t (e 2= 8l &8 e a= 2 e
if (first) {1
¢ -= DISTANCE;
first = 0;
¥
putchar(c);

t
eliseda £ ((cE>=N"ANNEENC <=7 )) 3
if (first)
firsE=10:
else
¢ += DISTANCE;
putchar(c);
t
else if (¢ == ' ')
putchar(c);




Lab 4 - 2}A|1

while ((c = getchar()) != '‘\n') 1
’ it (5 == A 8 @ = =2y el
e Part2-1 (CH=A}) if (first) §
¢ -= DISTANCE;
o offd AV M2z g2 Yt 21X first = 0;
mhc :
putchar(c);
o AZ0|9 firstZ 022 #H }
o = - . elsetatllc >=""A&&lc <= Z)) 3
o 80| OlL|etH AR W  iven
o putcharz ¢ first = 0;

else
¢ += DISTANCE;
putchar(c);
i
else if (¢ == ' ')
putchar(c);




Lab 4 - 2}A|1

8, while ((c getchar()) !'= ‘\n') 1
9., G (ci>=a R&E&ci<=h Zz )83
e Part2-1(LFAH 10, if (first) §
-4 ¢ -= DISTANCE;
o EOoAY|=AMZE = 12 first = 0;

%
putchar(c);

$
eliseda £ ((cE>=N"ANNEENC <=7 )) 3
if (first)
firsE=10:
else
¢ += DISTANCE;
putchar(c);
%
else if (¢ == ' ')
putchar(c);




pEAnEE( "\n" ) ;

return 0O;




#include <stdio.h>

v int main(void) {
INENC;
int check=0;
while ((c=getchax()) !=EOF){
TE((c<tA | (ci 2 &&c<a)llllc> "z )&&c!= \n'&&ci=""):
else if(c>='a'&&c<="'z"'&&check==0){
putchar(c-'a'+'A');
check=1;
it
else if(c>="'A'&&c<="Z"'&&check==0){
putchar(c);
check=1;
&
else if(c>="'A'&&c<="'Z"'&&check==1)1%
putchar(c-'A'+'a');

O 00 N0 g B W N

Ll ol el =
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else
putchar(c);

D

if (c="\n")

w N

break;
3

return 0O,
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#include <stdio.h>

, int main(void) 1{
char c;

INEr= (5)z

for (; ; i++) 1§
c = getchax();
3E (e >= a &&c <=z )}
putchar(c - 'a' + 'A');
break;
ks
else if (c >= 'A' & c <= 'Z') {
putchar(c);
break;

5

while ((c = getchar()) != ‘\n') {1
if (c >= 'a' & c <= 'z')
putchar(c);

else if (c >= 'A' & c <= 'Z")
putchar(c - 'A' + 'a');

else if (c == ' ')
putchax(c);

‘eturn 0O;

3




j#include <stdio.h>

La b 4 B -J_—,—l-z-” 1 e e A

char c;
c = getchax();

[ ]
Jol
0=
I
rQ
w

1 FR(CI>=I 0 BE& T cl<— 7 ) §
c=c- 'a'"+ 'A';
putchar(c);

t

else
putchar(c);

((c = getchar()) != '\n'){

TE N(ch>=N AN S& cli<= R Z )
c=c- ‘A +'a';
putchar(c);?

'a' & ¢ <= 'z’
putchar(c);

se if (¢ == '\n'){
putchar(c);

break

I;

(&)}

i
pEIREE(S\n");
return 0;
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o AREAl= BiSh 20| Y=ottt 7hy [ [RFA] (1 <=n <= 26)
K=

J
272

o 02 3S3t7| 95, YRE RAS MOl HLBHE ThER} YT st 3,

o QEZOo= CHA 7HSHIFT BTt (x Al Y B, B YL C, -, 79| 22%2 AYLICH)
273

o YURAE 9Ix|0fA CHAIZE 7 QEZOR SHIFT 3 |2|0| S E YIS £

o YBAOIA) Y- 10,2 -0

o ABCDEFGHIJKLMNOPQRSTUVWXYZ

o YBAOIA2) YA -25 2 -D

o ABCDEFGHIJKLMNOPQRSTUVWXYZ



Lab 4 - 2}A|2

o A DE
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#include <stdio.h>
#fdefine SHIFT 5

int main(void)
il
int index, decoded;
scanf("%d", &index);

if (index <= 1 || index >= 26) %
printf("wrong input\n");
return 0O;

index = (index - 1 + SHIFT) % 26;

decoded = 'A' + index;

printf("%c\n", decoded);

return 0;

21



#include <stdio.h>
jfdefine SHIFT 5

int main(void)

di
int index, decoded;
scanf("%d", &index);

if (index <= 1 || index >= 26) {
printf("wrong input\n");

O 00 6 o b W N P

PR
NG}

return 0O;

I et o
B W N

index = (index - 1 + SHIFT) % 26;
decoded = 'A' + index;

[
ey

printf("%c\n", decoded);

return O;
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#include <stdio.h>
jfdefine SHIFT 5

int main(void)

o

int index, decoded;
scanf("%d", &index);

O 00 6 o b W N P

if (index <= 1 || index >= 26) {
printf("wrong input\n");

PR
NG}

return 0O;

I et o
B W N

index = (index - 1 + SHIFT) % 26;
decoded = 'A' + index;

[
ey

printf("%c\n", decoded);

return O;
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1 4include <stdio.h>
Lab 4 - _T_’_l‘]'”Z 2 drdefine SHIFT 5
3
4 int main(void)
o TCE AT G
) el b 6 int index, decoded;
o o= =, 45t & 7 scanf ("%d", &index);
o ‘AO|A index - 1 2+ C{5tH i .
' _ S 9. if (index <=1 ||| index == 26) 1
index®| LtZA/E S0 & 10 printf("wrong input\n");
- 1-‘A 2-B 3-C 4k return O;
12
o O|ff, sf=E <lali 5 BtZ index ] 13
o index?} 258 Wt ALEZ 9|5 26202 14 index = (index - 1 + SHIFT) % 26;
B 15 decoded = 'A' + index;
DE=2 gih :
o A0 AME indexS TS Zat 2 printf("%c\n”, decoded);

return O;




#include <stdio.h>

v int main(void) 1%
int num;
scanf("%d", &num);
if(num>=1 && num<=26)1
num += 5;
if(num>26) num -=

1
2
3
4
5
7

O

char ch = 'A' + num - 1;
printf£("%c", ch);

%

print£("\n");

return 0O;
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##include <stdio.h>

v int main(void) 1§
int num;

scanf("%d", &num) ;

for(int 1 = 0; i < num; i++){
printE(“%"):

i

printE("\n");

return 0O;
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##include <stdio.h>

v int main(void) 1§
int num;

scanf("%d", &num) ;

for(int 1 = 0; i < num; i++){
printE(“%"):

%

printE("\n");

return 0O;




##include <stdio.h>

v int main(void) 1§

HE Ao RS 2350 SRS L

scanf("%d", &num) ;

for(int 1 = 0; i < num; i++){
printE(“%"):

5

printE("\n");

return 0O;




0]

HO| E== B=0] 24|

=
=

Jt27} oful 22

AHAE)S A

O[10f|

Tylo

O
1o

~



{|D




Al D A
A5 2-49

o O|RH0]|l= HAIAH
o AEAO|A| At
o JIZ M=Z EHO |




ofl = AT

Rl
11O

ujny

1

[:d.
A Y2 Lol 8
23

mal
HU
i

gLl




ofl = AT

Rl

11O

1

ct
A B= L0 2
=AE

al
_z_._.=
ojn
Nfu

ol

Hr

1

mal
HU
i

gLl




ofl = AT

Rl
11O

ujny

1

Cf
A B= L0 2
Al

al
_z_._.=
ojn
Nfu

ol

Hr

1

mal
HU
i

gLl




1A 2 7|



{|D







el

-
11O



1
P
3
4
5
6
i
8
9

R
N P ©

w

el
o O B

##include <stdio.h>

v int main(void) 3%
int num;

scanf("%d", &num);

for(int i = 0; i < num; i++){
for(int j = 0;|j < i+1;|j++)1
printE(*x"):
£
printE( \n )

return 0O;
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##include <stdio.h>

v int main(void) {
int num;

scanf("%d", &num);

while(num / 10)3

printf("%d ", num % 10);
num /= 10;

%

printf("%d\n", num);

return 0O;
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Computer wins! / Player wins!



make -s

./main
Computer: 1
3
Player: 2 3 4
Computer: 5
1
Playexr: 6
Computex: 7 8
2
Playex: 9 10
Computer: 11 12 13
1
Playexr: 14
Computex: 15 16
P
Playexr: 17 18
Computexr: 19 20 21
1
Playex: 22
Computer: 23 24 25
1
Player: 26
Computer: 27
K}
Player: 28 29 30
Computer: 31
Player wins!!

make -s

./main
Computer: 1
3
Player: 2 3 4
Computexr: 5
3
Playexr: 6 7 8
Computex: 9 10 11
3
Playexr: 12 13 14
Computex: 15 16
3
Playexr: 17 18 19
Computex: 20 21 22
3
Playexr: 23 24 25
Computex: 26
3
Playexr: 27 28 29
Computer: 30
1
Player: 31
Computer wins!!

1




##include <stdio.h>
#include <stdlib.h>

#finclude <time.h>

v int main(void) {

int num;

srand (time (NULL)) ;

1
2
3
4
5
6
7
9

=
(D)

num = rand() % 3;
printf("%d\n", num);

el
NP

return O;




2 ME Z5UCH

515

[e;

=T

| Bro| Yo

@)
L

=



##include <stdio.h>

f#finclude <stdlib.h> 26 EurEne=—rPILY:-

#include <time.h> 2 t

el‘g;—:{

#define COM 0O scanf("%d", &num);

f#idefine PLY 1
printf("Player:");

't main(void)

turn = COM;
%
for(int 1 = 0; 1 < num && curr < 31; i++)3

printf(" %d", ++curr);
%
while(curr < 31){ o SBIIRR T

if(turn == COM){

printf("Computer:");

int = COM;
int num, curr = 0;

srand (time (NULL));

if(turn == COM)
if(curr < 27) rintf("Computer wins!!'\n");
rand() % 3 + 1; 3 else
if(curr < 30) . printf("Player wins!!\n");
=30 - curr;
Teturn 0O;

1lz




A5 5 - Step 1

o GiZ, Y= XS =
1

o IR 22 2217} 3
##include <stdio.h>

v int main(void)3
int curr = 0O;

v While(curr < 31)%

s

return 0O;

Iy
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7
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9
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11,

##include <stdio.h>

{tfdefine COM O
{fdefine PLY 1

int main(void)3
int eurr 6
int tuxrn = COM;

while(curr < 31)1%
if(turn == COM) 3
U= 1Y "
§
elsed
turn




1 4include <stdio.h>
Step 3 )
3 idkdefine COM O
|.a|0.” OFt= _IA-I 7ﬁF2|. % %ZH)—' 4 {Jtdefine PLY 1
5
£ E40olOFgLCt 6, int main(void){
- 7 int eurr = 0;
E{1 z2}3l= 2| gfH O IHAE '
1 2fel= 371 SE2= S 8  int turn = COM;
L|C} 9
- o ol M sHel o 10, while(curr < 31)%
AAINA =€ wop1~262 M= HBELR 119 if(turn == COM){
24 12 ENTRE=1R] Y
27~29Y W= BLEA| 307712] 22 $
AT} 302 220, 171(31)0 52 elset

turn
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W42 ZHBLC

D =
8., 1n

le <stdio.h>
<stdlib.h>
de <time.h>

ine PLY 1

t main(void){
INE CUEE = 6:
int num, turn = COM;

srand(time (NULL));
while(curr < 31)%
if(turn == COM){
if(curr < 27)
num = rand() % 3 + 1;
else if(curr < 30)
num = 30 - curr;
else
num = 1;
EUENS =Rl
$
elsed




num 30 - curr;
else
num = 1;
EuEnt =PIty -
£

elses
scanf("%d", &num);

Eurn = COM:




-

>
U
|
7
r—'—
(D
)
U

while(curr < 31)%

urn == COM){
if(curr < 27)
+2zoste 222 2talct R
> if(curr < 30)
2 402, 021312 92 B
— num = 1;
(B%I-% [[H77|—Z| Hl_l_%cél-l“l E’I- turn = PLY;
- _ %
AR 2 E A (curr)& StHA elsed
_ _ scanf("%d", &num);
ZItA17|B1IM 22{3LCt

turn = COM;
L
for(int 1 = 0; 1 < num && curr < 31; i++)3%
printf(" %d", ++curr);
%
printf("\n");
%




A& 5-Step 6

o Ao SIj ItstE 25
ZoFUct
. - — 1 f (turn == COM)
O diof| RFAME HL|C .
° VVh”eL_ 110“ _]C)oHong | r printf("Computer wins!!\n");

o whileE0| Extth= 20| Ao ST/t else
AAT|QCH= S=0| €Lt : printf("Player wins!!\n");

o H= EAFL AYO| L] W20,
312 @zl Ho 0| =SS

1
o 2tA, Sizf 0| A Y2l SelArY LT

i==y¢
~

return 0O;

—
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make -s

./main
76
Cycle
Cycle
Cycle
Cycle
Cycle
Cycle
Cycle
Cycle
Cycle
Cycle 10:
Cycle 11:
Cycle 12:
12

i

VOO, WNBE
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